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1113.8 a. For perfeicticompe—ti&)n, MC = $10. For monopoly MC = §12.
i Op = 1000 — 50P. The competitive solution is P = MC = $10. Thus Q = 500.

1 1
Monopoly: P=20-— O, P =200—- —
poly soQ 0 0 soQ

Produce where MR = MC. MR =20 - 515— 0=12.0=200,P= $16

b. See graph below.

Loss of consumer surplus = Competitive CS — monopoly CS =

2500 — 400 =2100.

Consumer Surplus for Monopoly
% (4)(200) = 400

Consumer Surplus P.C.
1 (10)(500) = 2500

| e | 0
| i | . 200 500 Quantity
Of this 2100 loss, 800 is a transfer into monopoly profit, 400 is a loss from increased
Hi costs under monopoly, and 900 is a “pure” deadweight loss.
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1165

o Grant=6000—.75()

If1=0 Grant = 6000
7=12000 Grant = 4500
= 4000 Grant = 3000.

b. Grant = 0 when 6000 —.75/=0
I=6000/.75 = 8000

c. Assume there are 8000 hours in the year.
Full Income = 4 « 8000 = 32,000 =c + 4h.

d. Full Income = 32,000 + grant = 32,000 + 6000 — .75 - 4(8000 — h) =
38,000 — 24,000 + 3k =c + 4h or 14,000 = ¢ + h for I ——8,000. That is: for h >
6,000 hours welfare grant creates a kink at 6,000 hours of leisure.

¢(1000)

30+ Original Constraint

20t

Constraint for part f

S Constraint with welfare

11¢]
=9 Grant (part d)

2 4 6 8 h(1000)

f  New budget constraint‘is 23,000 = ¢ + 2A for A > 5,000.

Income and substitution effects of law change work in opposite directions (see
graph). Substitution effect favors more work; income effect, less work.



